BEEAT)—F-FL—=UT E)

FAX B &% R
& i & | SfE1REEIcOE 1540|* A/ F71)—F 1,684m
w B F 8 Ll s SEIERICOE 3.600| 2MSERZEE1,000/E(NERFE12/E)
N FHR — U a— N _ mBEC-O= 1,540| /\URAR—)La—KME,
2 v k% )L a3 —k 1TEIEREICOE 1,000 /\R4ybhiR—)La—k2m@.
A4S Ty —FLPNRTYER— NI 1TEIEREICOE 770 F=Ra—h2mE.,
F = X OO — k 1E1ERICOE 770 /NL—iR—)LO—k3ME.
NL—FR—L3a—+F 1E1EEFEIZOE 520 ==/\L—AR—)La—kF10ME.
S = AN L —3a—F 1HEI1BEICDE 210 JNRI> b2 a—KR0@E.,
NF ISV bYa— b 1EIEBCOE 210| SRk15E. (BAERE5L1EE)
= Bkl 1 B1REEICISOE 210 x5 a3—X174m.
L —Z=ZV 5 =@ A & )i 4 1T AN2B D 210| KEREE 58, 64m
(B &4 Y E)E 24 Z| NHEYIRISOE 2060|. nL—=> 4= 154
axoFa— Rt DA REREGHALTHERT 518851 1 N2B5[E[CDF 50
B 47
JASa=74—7V)—7F
i H X 7 B £E HE
[£S 5 & g  2fEIBEIcOE 520|332 =F4—7F')—F 402m
kB E L %( E BE F # B )| SEIEBEICOE 1,030 AIENRE2527%.
! (FE FE F# B B )| 2EIBRco= 2,060 UNFHRT—66m(11m X 6m)
N L= K = a3 = M IEEEIcoE 520 6 A/ AL—AR—)La—ME.
= N L — 3 — ~ 1E1RFEIZDE 210 ==/\L—a—Fr2ME.
N F T Y b vy a3 — M iEIBEICOE 210| JNRIU b O—R2E
= Bk 1B1EREICISOE 210
E ]
bR—IL - F D D FEER -
N G 1] Fi& " R
FIRRS OF ~ 1285 [ 1385 ~ 1 T85] 1o% ~ 228 [- XTEA_L
R 6,700 9,300 11,300] M=EAR
% b ok — w—v +-B-% 8,200 11,300 14,400 {ngf)%fg?;) -
g oD = (8 m. E&9m.
BL-RIAT mal= 2,100 3,100 3,600 BATE11.7m
T-B-# 2,600 3,600 4100] #2141, BE@4 M
£ = 1 410 620 820| HE@G)16m, EE@)19m
ES E 2 410 620 820| ZEEBEHA17N
ES E 3 410 620 820
ES E 4 410 620 820
S B = 7% Fir 410 620 820
S OR :RON =1 /\ — + JL = 310 - ZDIDIEH
® = = 1 310 ;g;—z;zggzanf
5] o= HE=E m
iﬁ g = rE 210 BREE(Q)36m
= 310 =248
i B B = 410 WERE157m
i A x T — o 720 4R =45
BHfr:H
O SEEEFEAN
MeE% X5 ER#
XibR—IL AR 3,090
AT —F EE 2,570
XibR—ILDES AR 1,030
RIOAIDH EE 820
- = nE 2,060
A2 =F4—7)—F E5 1540




